2019. 12 KR&THALEL

SLC=RA—L—295T D

12A6H (£) FIRAR—=DT LA 12H218 (1) SaAZFH5TT0F LU TinSSEV I AR (1F)
k—FA>F(3F) FUXETR&KEH#ETATF YLD
(XER. 4G, 492 noT) (AFR. 4G, 12492 nNVT)
BRI 13:00% 1% 13:30R 32— BF 16:00% 1 16:30 22—
SmE& SLC 2,600M Sm& SLCa=7%37 1,500M
Ak -—1i% 2,800/ SLCYa=T74935T L4} 1,800M
SMERE Eit=T4 SMER EREUT
SEORBIITEBEOAREZDEEFITT SEEASBEREFAHTY . BERMAE,
1ZATA (L) HRE>THFF—F AR (3F) 12A218 (L) KEFHEIOFHLXETOFYLOTAF)
(R, 4G, 2492 noT) (AFR. 4G, 12492 nUT)
BRI 9:30% 1T 10:00R%—h BF 19:30% ¢ 20:00R Z2—h
SmE& SLC 2,900M Sm& SLC 2,900M
Ak -—1i% 3,100/ A b-—f% 3,100M
SmMEE Eit=TH SMER ER=TH
SeE28 AR HBAHITY KEREZRBAFTT .
12878 (L) TAKAO CUPJOF+L T (3F) 12H26H (K) EAEEIOFYLOSF—TAORAF)
(BER. 4G, 2490 nVT) (AFB.AG. 12492 nNUT)
BrfE 20:30% 1% 21:00R 42—k BFH 20:00% 1t 20:30R%—h
SmE& SLC 2,900M Sm& SLC 2,900M
Ak -—fi% 3,100/ A b-—f% 3,100/
SMEE LT SMER ER=TH
SARMAAEEIOIFYLOSTY K22 RAARTY
S 7564 4% AR,
12027 (&) EBRJOLETEST
12A8H (H) ARRAET-FRET k=340 (3F)
BERVS—BMHBEAREG—F A (3F) (AR AG. 7402 0nUT)
(523G, 124040 nUT) B 13:00% ¢ 13:30R 42—k
BrfE 13:30%2{F 14:00R 32— SnE SLC 2,600M
SmE& SLC 2,400M A - —1i% 2,800
Ak -—1i% 2,600 SMERK EXRT=TY
SME% Eit=T4 12 1FE4S R AMKETT
SFES0B R HBAHITY
12A27H (&) 2019 J—FEEXZGF)
12A8B (H) L—F—Xra74—(1F) (B SAF—LHI, 5A X4G=20G 17407 nUT)
128220 (H) (AFB. 4G F2400nT) B 19:30% 1 20:00R 22—
B 19:15%2{¢F 20:00R 2—h SnE F—1.T20,500M (1.A4,100M)
Smt SLC 2,600/ SMEH =8 A 18—5 NI F— L TEHBLRABFEEL
Ak —fi% 2,800 EBE12F—LEBAR. Y—LRTERERBEHYET .
SME% WHRED7—(FA180KH) DA
TADIURAVLYRUBBYETS 128280 (L) ST BRI
19:30~20: 003 B R—ILTY, A¥)—FroE4 K% (3F)
(AFR. FEAGHREEG. £24V¥NUT)
12013 (&) ITEGETOFYLIS B RS 12:30% 1t 13:00X 52—k
r—FA2 R (3F) SmE SLC 3,100M
(AFB. 4G 7400 nT) BSmE SESLCTH50m L LD
] 13:00% 1% 13:30 22—~ SEHE60RFREIAH TY
Smé& SLC 2,600M
A k- —fi% 2,800M 12H28H () FEREXTOFTLIOSF—F AR (3F)
SmEE LT (AER. 4G, A48T
BFH 19:30% ¢ 20:00R 2—h
12B 148 (L) JT—ILDOE(3F) SnE SLC 2,900M
(NER. 4G, A749%nT) A b-—f% 3,100M
B A 13:005%4F 13:30R 42—k BSmME ERt=TH
SnE SLC 2,700/ AA k-—f% 2,900/ SEEAABRRIAH TY
BMERE Eit=-Td,
BREII—LOEIDr—F - BEFTYT. 128298 (H) PEERIOFvLOSF—F AR (3F)
(AER.5G. 744 bnUT)
12146 (L) BABTFULSFNT 3] 9:00% % 9:30R%—F
FT IR —F A2~ (3F) Sh& SLC 3,400/
RTEDOA DR, F—LTIG) Ak —f% 3,600/
B RS 20:30%ft 21:00R%—+k SMER ER=TH
SmE F—.1\T6,600[ FEESSERHEAFTT
SMEE 282 1 ELERT=TH, (BRTHRAAH])
FEEEEDOFTTILRIG 128298 (H) BREAZyOERAR L ~—T A F(GF)
HBEIGIIRDYFHATILATY , £F24F—LHAH, (RER.AG. 7240 000T)
B 18:30%{f 19:00R2—h
12158 (H) AN@ITOoFrL>D (3F) SmE SLC 2,900M
(BEB.AG. 124¥0vT) AAk-—4#% 3,100M
B RS 20:305% 4% 21:00R 52— SMER ER=TH
SmE SLC 2,900M FEES6L AR TT
A -—1% 3,100/
SEE E-Th 128308 (A) ABSH ZHIOFvLIT(3F)
FEE224R HIARITY (BER.AG. 17405 nUT)
B 10:00%{f 10:30R2—h
12165 (RA) = RART R MF (3F) Sh& SLC 2,900/
(DER. 4G, F24V2nvT) AAb-—4#% 3,100M
BRI 14:00% 1% 14:30 R 32—~ BME®R ERT-TY
SmE SLC 2,600 EBEEICER—ILEERNLET
AA - —1i% 2,800/ SE7564 HR A Fl.
SER% Eigt=TH
RaIEERTHITT 128308 (A) ISYIRIIT
#A &3 L ARTAX 2V TS (3F)
12H208 (£) BRDOY—T 4%¥')—K=(3F) (B 18G. #7400 noT)
(BER. FEAGHRIE2G, 74000\ T) o] 18:30%ff 19:00R 2 —h
BRI 12:30% 1% 13:00R 32— SE SLC 10,500
SmE SLC 2,700M A k—f% 12,500
SMEE ROY—7smE SmMER Ef=TH
SRER2AHEARTT FEEASB AR TY
L—VIiF S BE#ETT,
12A31H (K) RRIaFv LT (3F)
12H218 (L) JLBC E#H&(3F) (A58, 4G, 17402 0nUT)
(FERER. 4G, RYFYF) o] 9:00% 1 9:30R 45—k
BRI 13:00% (% 13:30R 32— SE SLC 2,900/
SmE 2,600/ AAk-—1#i% 3,100M
SMEHE JLBCRE-JLBCHR—4—%8 SMERK ERT=TY
SAEITEARETY SIS BEREHAKITY




